Instructions

For this experiment, you will be randomly assigned to groups of six and to different roles. In each group, four participants will be assigned to the role of a voter and two participants will be assigned to the role of a candidate. You will keep the same group and role during the entire experiment. The experiment is divided into 15 periods. Each period is divided into four stages (described below). We describe the decisions of the voters on the left column and those for the candidates on the right column.
	Voters
	Candidates

	Stage one
	Stage one

	One of the four voters receives an endowment of 130 points. For convenience we refer to this voter as voter130. The three remaining voters receive and endowment of 10 points, we refer to them as voter10.

	Candidates receive an endowment of 20 points.

	Stage two
	Stage two

	Voter130 decides how many points to transfer to candidate 1 and to candidate 2. He can choose any combination of points from his/her endowment.
	Candidates are informed of the amount of points they received from voter130. 


	Stage three
	Stage three

	Voters are informed of the percentage chosen by the candidates. 

	Candidates choose a percentage between 0% and 100%. The precise procedure by which they arrive to their choice is described in detail in the next page.


	Stage four
	Stage four

	Voters vote for candidate 1 or candidate 2. The candidate with more votes wins and his/her chosen percentage is used to determine the voters’ earnings. In case of a tie, one candidate is randomly selected to be the winner. 

	Candidates are informed of the number of votes they received and whether they won or lost the election. Candidates that win receive 25 additional points. Candidates that lose receive 0 additional points.




Choosing a percentage
The procedure to choose a percentage is divided into three steps:
Step 1: Candidate 1 chooses a percentage, which is communicated to candidate 2. 
Step 2: Candidate 2 chooses a percentage, which is communicated to candidate 1. 
Step 3: Both candidates decide simultaneously whether they want to accept the current percentages or to change them. If both candidates accept, the procedure ends and the two percentages are communicated to the voters. If one or both candidates chooses to change the percentages, the procedure goes back to step 1.
Costs of changing percentage: There is a small cost for. Each time a candidate changes his/her percentage in step 3, he/she pays 1 point. 
Wining percentage and voters’ earnings
The earnings of voters are determined by the percentage chosen by the winning candidate. Specifically, they are given by the following rules:

earnings of voter10 
=  10 + percentage × 30
earnings of voter130 
= 130 – percentage × 90 – transfer to candidate 1 – transfer to candidate 2
To illustrate how earnings are calculated we provide an example. 

Example 1: Suppose that voter130 transfers 15 points to candidate 1 and 25 points to candidate 2. The voters’ earnings for different winning percentages are given in the table below.
	Winning percentage
	Earnings of voter130
	Earnings of voter10s

	0%
	90 points
	= 130 – 0.00 × 90 – 15 – 25
	10 points
	= 10 + 0.00 × 30

	25%
	67.5 points
	= 130 – 0.25 × 90 – 15 – 25
	17.5 points
	= 10 + 0.25 × 30

	50%
	45 points
	= 130 – 0.50 × 90 – 15 – 25
	25 points
	= 10 + 0.50 × 30

	75%
	22.5 points
	= 130 – 0.75 × 90 – 15 – 25
	32.5 points
	= 10 + 0.75 × 30

	100%
	0 points
	= 130 – 1.00 × 90 – 15 – 25
	40 points
	= 10 + 1.00 × 30


Candidates’ earnings

The earnings of the candidate who wins are given by: 

earnings =  25 + 20 + [transfer from voter130] – [costs incurred when choosing a percentage]
The earnings of the losing candidate are given by:

earnings =  25 + [transfer from voter130] – [costs incurred when choosing a percentage]

